DRAFT EXPENDITURE CALCULATION FOR PENSION REVISION

Multiplication Factor if 0% Fixation : {(Basic Pay(1) + 119.5% IDA as on 1-1-17) x 0 %} = {(1+119.5)x 0%} = 2.195
Multiplication Factor if 15% Fixation : {(Basic Pay(1) + 119.5% IDA as on 1-1-17) x 15 %} = {(1+119.5)x 15%} = 2.524

Pay Scale Maximum of | Basic Pension | IDAason | Total Revised with Gainon | Revised with Gainon | Percentage
the Scale Retiring atthe | 1-1-17. Pension 0% Fixation. 0% 15% Fixation. 15% Of
maximum of 119.5% As on Basic Pension | Fixation | Basic Pension Fixation Increase
scale (3)x119.5 | 1-1-20017 (3) x 2.195 (6)-(5) (3) x 2.524 (8)-(5) (9)/(5)
(2)x.5 (3) +(4) x100
1 2 3 4 5 6 7 8 9 10

NE 9 25420 12710 15188.45 27898.45 0 32080.04 4181.59 14.98

13600-25420 27898.45

NE 10 27850 13925 16640.37 0 35.146.70 4581.33 14.98

14900-27850 30565.37 30565.37

NE11 30630 15315 18301.42 0 38655.06 5038.64 14.98

16370-30630 33616.42 33616.42

NE12 33830 16915 20213.42 0 42693.46 5565.94 14.98

16390-33830 37128.42 37128.42

E3 50500 25250 30173.75 0 63731.00 8307.25 14.98

24900-50500 55423.75 55423.75

E4 54500 27250 32563.75 0 68779.00 8965.25 14.98

29100-54500 59813.75 59813.75

E5 58000 29000 34655.00 0 73196.00 9541.00 14.98

32900-58000 63655 63655

e Commutation deduction on basic pension not considered for calculation.




